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e gact outcome cannot be predicted in advance is called a
fandom experiment.

ple:
jly;‘snsmg of a coin

lling of a die dice
i )rawing a card from a pack of well shuffled cards.
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# Sample Space : The sample space of an experiment is the set of Me
outcomes.

Example:
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ii.Two coins are tossed simultaneously ‘{ HH T , TH KT 3 3 @

iii.A die is rolled = { J.’.z )3.4,5, 6} 3 @
iv.Two dice are rolled simultaneously
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Two coins are tossed , write an event atleast one tail comes.
?——-—<
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#LP.: A cardis dr.awn a Mom a well shuffled deck of 52 playing cards
=59

, write the following event that the card drawn is :
i. A card of spade or an ace i‘ __5\%'0} 3 %_ e ()t
s ‘\ S 2
i. Ablackking $°°%
——  RsAa——0( -z

S2
iii. Neither a jack nor a king
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iv. Neither a king or a queen
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#LP : Two dice are rolled write the event of the following conditions :

i. Sum of the numbers of two dice are 5 — £ =94 — p(e)= %‘1 ’Si(,

ii. Difference of the numbers on the two diceare2 £, =% —s P(GD =

iii. Same number on both dice €, ~ @ S P(s 3)

(7
iv. Different number on bothdice € - 3(- ¢ 20 — P ( 5'\() = Ve
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#LP : A bag contains a red ball , a blue ball and a yellow ball , all the balls
being of the same size . Kritika takes out a ball from the bag without looking

into it . What is the probability that she takes out the
i. yellow ball ? ii. red ball ? iii. blue ball ?
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#LP:

A letter of ish-alphabet is chosen at random then find the probability
that letter is a ¢gonsonan
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#LP : A box contains 12 balls out of which x are black . If one ball is drawn at

random from the box_, what is the probability that it wil be a black ball ? If 6
more lglgﬁ;g__!_:%]_s.are put in the box , the probability of drawing a black ball is

now double of what is was before . Find ‘x’.
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#Sure event : An event that is certain to happen is called sure event.
Exam |e — —
A dice is thrown , fi ncl the probablllty of gettmg a number less than 7.
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#Impossible Event : An event that {annot happen is impossible event

EX@mple : A dice is thrown , find the probability of getting @ number more than
6.
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#LP : A bag contains 5 red balls and some blue balls . If the probability of

drawing a blue ball from the bag is thrice that of a red ball , find the number of

blue balls in the bag.
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